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Some say a Kahblohn cannot testify — 7opn 10K 7 nr 1hap

OVERVIEW

The Xn>2 states that there is a dispute whether a 192 may testify on behalf of the
MY regarding a contested property in the possession of the m%. Previously the
Xn>>12 taught that a ‘regular’ 29% (or a mbn, etc.) can testify on behalf of the m>,
provided the Mm% has another field (besides the one being contested). mooIN
discusses the view that a 1737 may not testify.?
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The 1227 may not testify (according to one view) for the MY, even though the mb
has other land —

mooIn asks:
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It is astounding! For what difference does it make to the 723p that the Mm% should
keep both fields (including the contested field), for even if the 71792 will come and

collect the s'f»ap field —
- SHYMANN RYIN 799 TPNT 113 MY HYW NX 92907 1927 SN

The 3227 will come and collect the uncontested field of the m», since the M7 has
another uncontested field —

mooIn considers a possible solution:
= 519192 19299 YIY 111D 91917 NI PPN)

And it does not appear correct to answer that this is a case where for instance

the 122p owns average valued fields -
= 1939352 993 DYDY TIYNY NYIY RYIN N*NIN)

And that contested field which the 1527 wants to testify for on behalf of the ™ is
also no111°2 (average) -

!'See 192p "7 0"awN that a 1737 is a guarantor who took the money from the 791 and gave it to the m>. The %1 may

collect directly from the 172p, without being required to approach the m? first for payment.

2 The ®m3 gives the reason because the 193p prefers that the m> should have both fields; which itself requires further

explanation.

3 This is obvious, for if the MY has no other land, there is no difference between a 1227 and an 27y or a m>», for none

of them may testify if *n>nR XyIX 772 n°2, the only time the others may testify is if >N IR XYIR 77 MK,

4 See footnote # 1 that by a 173p, the m7n can collect directly from the 173p, avoiding the m? entirely.

5 The 123p is not biased; it makes no difference to the 192p whether the 1% will retain or lose the contested field,

since the mM? has another uncontested field. This is sufficient security for the 172p! He should be permitted to testify!
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However the other uncontested field which the 7% owns is N2 (inferior; below

average value), in which case -
= 5519992510 NON 12X 19 191 DT Y NN 9901 NIvN XYW TP09197

The 1227 will lose if the 9% will come and take away the s'172p field, for the
1227 will only be able to collect the N335 from the 17 -

mooIn rejects this explanation:
= 7T 19390 S1INN NYIN 119D TN 129N NI9Y 1939 NI 9133 MY )5 ONT

For if indeed it is such a case where the PR XvAX is N°12°1, even the mb»
should not be permitted to testify for the 7 even if the 7% has SnInR XX in
this same manner —

A second difficulty with this solution:
= 51591257 NN 192 51239352 NN 122 199919 NDT 90 19INT ¥10YN 123y D93 1)

And additionally it seems that the 1927 cannot testify in any situation, since the
xn»72 did not distinguish whether the “n°7nX XyIX was o153, or whether it was
NIt —

A final difficulty with the proposed solution:
= 0NN NINMT ANIIT (3,00 97 pv2) PPN PNY TIINT TV

And furthermore that additional contemplation is required in Pp™IT P75,

where it seems evident from the X 1) there -
= 951591257 NIN 1Y 19 XD 192 0) 199297 NON 119D PN ONT

That if the Mm% possesses only n>7127, the 722p is not required to give the Mo,

® The 122p is biased; he prefers that the M?> retain the contested N2 field so in case the M9n collects the s'172p field
(n°111°2) he will be able in turn to collect the N2 from the mM2; if however the M7 loses the contested n°1a field,
the 122p will only be able to collect n>12°; the 173p does not want to give up n°111°2 and receive only n*112°1. This
would seem to explain the &3 satisfactorily. However n1o0o1n rejects this explanation.
7 The ®n»"2 distinguishes that a M may testify if >R X¥IX 7% 1°X, and a 122p cannot testify (even if Xy 779 MR
snnR [according to one view]). Obviously both are discussing the same case. If the case of the 122p is that the XyX
*NPINR is NN, it is also this same case by the m9n, that the *n> X XYIR is n°12°1, so why can the T testify, he is
definitely biased, he would rather collect the contested n°111°2 field, than the uncontested n>12°1 field!
8 However according to the proposed answer the 193 cannot testify only if the >N X XyIX was N 12T
% The rule is that a m» generally collects from n°11°3. Therefore we assumed (in the proposed answer) that the 7151
will collect the n>111°2 of the 923p (not his n*112°1) and therefore if all the M has left is n>112°1, the 192 will suffer a
loss. However, n19oin is arguing that this is not the case; for even if the Mm% loses the contested n°11°3, and remains
only with the uncontested n>112°1, when the 71%» wishes to collect from the 722p, he can only collect n>112°1, for that is
the only field the 7% possesses. The 7791 indeed has the choice to collect first from the 723p, but he cannot collect
from the 123p a superior field than he could have collected from the m%. Therefore there is no loss and no bias. The
M9 collects N2t from the 173 and the 122p receives N> N2°1 from the MY, See ‘Thinking it over’.
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anything but ns12° —

Mmoo offers his explanation why the 172 cannot testify:
= PINN RYIN 19D 5PRT 2) DY GN MDY TO¥1 19X 192D RNDYL 19977 AN

And it appears to M»on that this is the reason why the 937 cannot testify for

the %, even if the M7 has another field -
- 1083554 N3O 199y DP0Y XN 199 NAYIVT DIVN

Because it is bothersome for the 192 to get involved with a lawsuit and judges -
- 19271 I NIYPH NAN XY DD MYPIP MYY 1PHIY

However if the m% has many fields the 7% will not collect from the 392p, so

assumes the 172p -
= 1ann9na Nvn 1 MY 9999 9NN

Since he can collect comfortably from the 7Y%, for there are many options —

Mmoo responds to an anticipated question:'?
= 1599257 3PINN) 1193122 RN DY DYNY NN IDPAN 13y 553 M5Y To¥n MY Yax

However the m»» may always testify for the 7> in any situation even if that

contested field for which the m%n is testifying is a n5131°2 and the other field is a
n2°1 (where seemingly the Mm% stands to lose), nevertheless he may testify -
= 1399w 1595 XY 19912519 51531992 Y9IVNIN DIVNT

Because the m%» will not testify falsely on account that the nsvv2 will be

switched to ns=m12%s -
- 149yma NIV Y WO ©YPNI Yot

For nonetheless he is receiving equal value for equal value —

Mmoo offers an alternate approach why the m%» may testify: '

19 The 192p, in his attempt to be reimbursed by the M?>, will need to take the M to a 7">2 and prove to them that he
paid the loan, and receive a ruling that the Mm% must reimburse him and then carry out this ruling, He would rather
not get involved at all by making sure that the 719 collects directly from the m>.
' This is what the X3 means that the Mm% should have both fields (see footnote # 2), for the 1727 assumes the greater
variety there is by the m?, the more chance there is that the m?» will go after the 717, and not after the 123p.
12 The question is based on the premise, mentioned by n1voIn previously (see [text by] footnote # 8), that the cases
here are in all instances, since the Xn»92 did not qualify its ruling.
13 mpoin totally negates the logic of the proposed answer that receiving N2°7 instead of n>111°2 creates a bias that we
should therefore not accept his testimony. The difference between n°111°2 and n>M2°1 is insufficient to suspect that
one would testify falsely because of the exchange.
14 He may be receiving n>112°1, but its market value is the same as the n°>21°2; he receives more land which in the end
equals the value of the n°na.
15 This answer assumes that there will be a bias if he loses the n11°2 and receives nN>112°1 instead. Therefore the M
can testify only if the *n>nX X¥IX is N°111°2. And as to the question that it seems that the Xn»92 is discussing all cases
(see footnote # 8), NMooIN therefore explains...
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Or you may also say that the phrase >n*anR X=X in the entire X923 means a
similar land, but not an inferior land, for then there is a bias and they will not be able to testify.

SUMMARY
The bias of the 172p is that the more fields the m? has, the more likely the m>» will
collect from the 77 and the 1923 will have no need to be embroiled in a n">7

THINKING IT OVER

1. moon writes that if the MY has only n>12°1, the M%7 can collect only n°112°1 from
the 192p.!'° What will be the rule if the m> has only n™1127 and the 1737 has no
n>712°1, only N°111°2 or N7Y, can the M7 collect from the 1937 (the nn3), or not?!’

2. There is a dispute in Md01n whether one would testify falsely if he would receive
1271 instead of 12,8 What would be the n11%°n X720; meaning what would be
the thinking on one’s own without relying on proofs from sources.

16 See footnote # 9.
17 See yw 1 10 and nwn nbm.
18 See footnote # 13 & 15.
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